SVD: an Example

0 1 0 1 01 1 1 1 0
A=|1 1| =>AAT=|11 [110} 1 21
10 10 | 11
= A\ =3 ! é A2 =1 ! (1)
1 1 \/6 ) 2 2 \/§ 1
Top n=2 eigenvalues and eigenvectors for AAT
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ATA:[ ] 11 :[ }
1 1 0 10 1 2
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Eigenvalues and eigenvectors for ATA
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SVD: an Example (cont.)

Singular values: Av; =oju;;5 =1,2
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SVD: an Example (cont.)

Matrix representation:

-~

A1 = alulvlT
1 1 0.5 0.5
= V3-Ll2|-Lpyg=ii2|np1y=|1 1
ve 1 V2 1 0.5 0.5
;&2 = z&l—f—O'QlIQV;—
[ 0.5 0.5 ] 1
= 11 +1-% 1 0| =[-11]
2 2
| 0.5 05 | vz —1 vz
[ 0.5 0.5 ] —-0.5 0.5 0 1
= 1 1 + 0 0l=1]11
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